The School Board of Broward County, Florida Procurement & Warehousing Services

MED (DED N	1 Tocurement & Water	C		D. T. 2016				
ITB / RFP No.:	16-123B	Tentative Board Meeti	ing Date*: JU	NE 21, 2016				
Description:	PLASTICWARE AND FLATWARE CUTLERY	Notified:	40	Downloaded:	24			
	FOR CAFETERIAS	ITB / RFP Rec'd:	8	No. Bids:	0			
For:	FOOD AND NUTRITION SERVICES	ITB / RFP Opening:	MAY 4, 2016					
Fund:	(School/Department) FOOD AND NUTRITION SERVICES OPERATING	Advertised Date:	APRIL 11, 20	016				
	BUDGET	Award Amount:	\$1,110,000					
affected by the dec decision. The form failure to file a form formal written protocome which the District Procurement & Warn intended decision County, Florida, (S 3320, Part VIII, Pu	rvices and www.Demandstar.com on MAY 17, 2016 @ 3:00 ision or intended decision shall file a notice of protest, in writing all written protest shall be filed within ten (10) days after the mal written protest shall constitute a waiver of proceedings upon the state with particularity the facts and law upon which is closed shall be excluded in the computation of the 72-hour archousing Services, 7720 West Oakland Park Boulevard, Suiton shall post with the School Board, at the time of filing the factor of the stimate processing Policies, Section N, within the time allowed for filing Silence, as stated in the ITB / RFP, is in effect until the state of the s	ing, within 72 hours after the date the notice of protes after the chapter. Section the protest is based." Saturated the protest is based." Saturated as 33, Sunrise, Florida 33 formal written protest, a bid value of the contract. Faring a bond shall constitute as ITB / RFP is approved.	the posting of the st is filed. Failur 120.57(3)(b), Flourdays, Sundays, Filings shall be a 3351. Any person ond, payable to a waiver of the ried by SBBC. T	enotice of decision or the to file a notice of provida Statutes, states the state holidays and day that the office of the Dian who files an action properties and required by SBB that the protest.	intended orotest or hat "The ys during rector of rotesting Broward C Policy			
	entative. Confirm with the Purchasing Agent of record							
	RECOMMENDATIO	ON TABULATION	N					
VENDOR NAM	ME(s)	ITEM(S) AW	ARDED					
DAXWELL		PRIMARY: 1 (A-G)					
ALL FLORIDA P	APER, LLC	ALTERNATE:	1 (A-G)					
ARE RECOMME VENDOR. IF TH	IEET THE NEEDS OF THE SCHOOL SYSTEM AND IN THE STATE OF THE BIDDERS LISTED. E LOW BIDDER IS UNABLE TO MEET THE BID REQUIRED: JULY 1, 2016, THROUGH JUNE 30, 2018	THE LOW BIDDER W	ILL BE THE SO	CHOOL BOARD'S P	RIMARY			
	Larisw Heles							
Ву:		Γ	Date: <u>5/10/16</u>	i				

The School Board of Broward County, Florida, prohibits any policy or procedure which results in discrimination on the basis of age, color, disability, gender expression, national origin, marital status, race, religion, sex or sexual orientation. Individuals who wish to file a discrimination complaint, may call the Executive Director, Benefits & EEO Compliance at 754-321-2150 or Teletype Machine (TTY) at 754-321-2158.

REVISED: 3/10/2016 Page 1 of 4

(Purchasing Agent)

	THE SCHOOL BOARD OF BROWARD COU	INTY, FLO	ORIDA												
				All Florida Paper, LLC		Þ	Dade Paper & Bag Co.		Award		Daxwell				
	BID TABULATION SHEET	BID TABULATION SHEET		Medley, FL			Dade Paper & Bag Co. Miami, FL			Houston, TX					
						ō.		<u>q</u>				Out of state		Award	
												-5%	Pref. Price		
Item	Description	Quanty	Unit	Unit Price	Total Cost		Unit Price	Total Cost		Unit Price	Total Cost	disadvantage	Extension		
1															
Α	Fork Packs 1000363	12,000	cases	\$ 10.31	\$123,720.00		\$ 19.50	\$ 234,000.00		\$ 9.39	\$ 112,680.00	\$ 9.86	\$ 118,314.00	\prod	
В	Forks 1000374	1,500	cases	\$ 4.53	\$ 6,795.00		\$ 6.17	\$ 9,255.00		\$ 4.38	\$ 6,570.00	\$ 4.60	\$ 6,898.50		
С	Teaspoons 1000375	1,800	cases	\$ 4.53	\$ 8,154.00		\$ 6.17	\$ 11,106.00		\$ 4.38	\$ 7,884.00	\$ 4.60			
D	Knives 1000379	1,200	cases	\$ 4.53			\$ 6.17	\$ 7,404.00		\$ 4.38	\$ 5,256.00				
Е	Sporks 1000385	350	cases	\$ 4.53			\$ 6.17	\$ 2,159.50		\$ 4.38	\$ 1,533.00				
	Spork Packs	10,000	cases	\$ 10.31	\$ 103,100.00		\$ 17.40	\$ 174,000.00		\$ 9.39	\$ 93,900.00			_	
G	Fork/Spoon Combo Kit 1000	30,000	cases	\$ 8.85	\$ 265,500.00		\$ 16.08	\$ 482,400.00		\$ 7.52	\$ 225,600.00	\$ 7.90			
					\$ 514,290.50	Α		\$ 920,324.50			\$ 453,423.00		\$ 476,094.15	Р	
	Award Legend:														
	P=Primary														
	A=Alternate														
														Ш	
														Ш	
														Щ	
														$\perp \! \! \perp \! \! \! \mid$	

REMARKS:

BID DRAFT WAS APPROVED BY: Lynne Wells, Purchasing Agent, Food and Nutrition Services and Larissa Seda, Purchasing Agent, Procurement & Warehousing Services

BIDS RECEIVED WERE EVALUATED BY: Lynne Wells, Purchasing Agent, Food and Nutrition Services and Larissa Seda, Purchasing Agent, Procurement & Warehousing Services

RECOMMEND THE AWARD BE MADE TO THE ABOVE LOW BIDDER(S) MEETING SPECIFICATIONS TERMS AND CONDITIONS.

Buyer/Purchasing Agent: Larissa Seda

	in aronaomy rigona zarioca coaa														
	THE SCHOOL BOARD OF BROWARD COUNTY, FLORIDA BID TABULATION SHEET		Innovative Software		Awar	RSD Majestic Supply Company Of South FL. David, FL		Awar		se's Delight Inc. Vest Park, FL		Group o	astern Paper f Florida, Inc. conville, FL	Award	
Item	Description	Quanty	Unit	Unit Price	Total Cost	ď	Unit Price	Total Cost	ď	Unit Price	Total Cost	ď	Unit Price	Total Cost	ď
1					A 122 222 22	Ш				<u> </u>					
	Fork Packs 1000363	12,000	cases		\$ 136,200.00	Ш	\$ 13.55	\$ 162,600.00		\$ 18.76		_	\$ 19.24	\$ 230,880.00	
	Forks 1000374	1,500	cases		\$ 15,750.00	Ш	\$ 5.62	\$ 8,430.00		\$ 5.94			\$ 6.09	\$ 9,135.00	
С	Teaspoons 1000375	1,800	cases		\$ 11,070.00	Ш	\$ 5.62	\$ 10,116.00		\$ 5.94	•	_	\$ 6.10	\$ 10,980.00	
	Knives 1000379	1,200	cases	\$ 10.45	\$ 12,540.00		\$ 5.62	\$ 6,744.00		\$ 5.94	\$ 7,128.00	_	\$ 6.12	\$ 7,344.00	
Е	Sporks 1000385	350	cases	\$ 6.15	\$ 2,152.50		\$ 5.62	\$ 1,967.00		\$ 5.94	\$ 2,079.00		\$ 6.14	\$ 2,149.00	
F	Spork Packs	10,000	cases	\$ 15.50	\$ 155,000.00		\$ 12.98	\$ 129,800.00		\$ 16.75	\$ 167,500.00		\$ 16.99	\$ 169,900.00	
G	Fork/Spoon Combo Kit 1000	30,000	cases	\$ 10.28	\$ 308,400.00		\$ 12.80	\$ 384,000.00		\$ 15.48	\$ 464,400.00		\$ 15.70	\$ 471,000.00	
					\$ 641,112.50			\$ 703,657.00			\$ 885,829.00			\$ 901,388.00	
	Award Legend:											_			
	P=Primary														
	A=Alternate					Ш									
						Ш									
						Ш									

Bid Opened: 5/4/16

REMARKS:

BID DRAFT WAS APPROVED BY: Lynne Wells, Purchasing Agent, Food and Nutrition Services and Larissa Seda, Purchasing Agent, Procurement & Warehousing Services

BIDS RECEIVED WERE EVALUATED BY: Lynne Wells, Purchasing Agent, Food and Nutrition Services and Larissa Seda, Purchasing Agent, Procurement & Warehousing Services

RECOMMEND THE AWARD BE MADE TO THE ABOVE LOW BIDDER(S) MEETING SPECIFICATIONS TERMS AND CONDITIONS.

	THE SCHOOL BOARD OF BROWARD COU BID TABULATION SHEET	Group o	astern Paper of Florida, Inc. onville, FL ornate Bid	Award		
Item	Description	Unit	Unit Price	Total Cost		
1						
Α	Fork Packs 1000363	12,000	cases	\$ 12.04	\$ 144,480.00	
В	Forks 1000374	1,500	cases	\$ 4.93	\$ 7,395.00	
С	Teaspoons 1000375	1,800	cases	\$ 4.93	\$ 8,874.00	
D	Knives 1000379	1,200	cases	\$ 4.93	\$ 5,916.00	
Е	Sporks 1000385	350	cases	\$ 4.98	\$ 1,743.00	
F	Spork Packs	10,000	cases	\$ 12.26	\$ 122,600.00	
G	Fork/Spoon Combo Kit 1000	30,000	cases	\$ 10.77	\$ 323,100.00	
					\$ 614,108.00	
	Award Legend:					
	P=Primary					
	A=Alternate					
					_	

Bid Opened: 5/4/16

REMARKS:

BID DRAFT WAS APPROVED BY: Lynne Wells, Purchasing Agent, Food and Nutrition Services and Larissa Seda, Purchasing Agent, Procurement & Warehousing Services

BIDS RECEIVED WERE EVALUATED BY: Lynne Wells, Purchasing Agent, Food and Nutrition Services and Larissa Seda, Purchasing Agent, Procurement & Warehousing Services

RECOMMEND THE AWARD BE MADE TO THE ABOVE LOW BIDDER(S) MEETING SPECIFICATIONS TERMS AND CONDITIONS.